Mrs. Conway, Algebra 1T
Freeman High School
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| Aim: How do you write the equation of parallel and perpendicular lines?

L

Warm Up Question: What is the slope of a line that is parallel to y=2x - 3?

NOTES ---

How do you determine the slope of a line that is parallel?

How do you determine the slope of a line that is perpendicular? 1l m— use ncg .(or °pposi
What is the slope of a line that is perpendicularto y = 2x—3?
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What is the slope of a line that is perpendiculartoy =-%x+7? _ 1l m = 3/2-

Find an equation for the line:
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1 threuzh @, 3}mdparailc!toy--zx =2, m=s 'i
Y..mx-rb

3.(’3:= 5562)4—5)
= 2+3b
7=3$

b= <t
3 A A 7,
Equation of Line:_ U4 = 3 X+

through . =7} andparaliel to vy =—2¢— 3. m= -2

£ mx+b

~7=(C2)(1) +b

-7=-2+b

~5 = b

?

Equaioncftine: 4= ~ZX — 5
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3 through -2, 8} end paraliel l:-ny-—i.e—-l.

=mx+b o5 =13
3:[§= ~5(-2)+b ]
24= 2+3b
22:23
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- 5 x+ 23
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4 through 7,-3) andperpendiadar toy =—;4x-2. i f’q
Lm=z 4
s MmMx+b
~3= 4(7)+b
-8 = 2¢+b
b=-31

Equation of Lina: ﬁ= Hx - 3l

through 2,63 mdperpendcwartoy=—%xnl mc '.g.

Lm= '*/_3
z mx+b

[_,(,: %(2)"‘5]
-18= 8+ 3L
-2L- 3b
b= ~*%
Equation of Line:
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6 through 3,~1: mdperpendicula oy =-x- 4 =

mx.-l-lo
5 (3>+ b
= 2+b
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Equation of Line:
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What Did the Policeman Tell The Burglar in the Bathroom?

Find the answer for each exercise in the er columns., Write
ber of the answer.

Part 1. Write the equation of the line indicated. Part 1 Answers

y il
U Equation of AB . 1 G = > Ny=3x+1
b s i
0 Equation of CD = N A 4 'y gl
C = > 24 y=—§x-—2
| Equation of EF N c BA N .
= H 20 y=-—:—23x+1
3 .
€ Equation of GH D N\ 2 y:._%x,.g
v Y
Part 2. Write the slope of a line parallel to the given line. Part 2 Answers
12 7 7
Ty=3ix-2 Uy=8-3x g2 27 10—
0 5x+y=12 Adx+7y=21 65 2| --.% 26 -3
Part 3. wmmnﬂop-oianmwpmduﬂurhﬂnﬁmﬁm. Part 3 Answers
2 i o 5 -3 o |
Ey=-3x+1 Hy=6x+11 8 3 28 —5 1 8
0 2x + 5y = 40 T 8x-3y=15 16 2 43 15 -3
Part 4. Wrﬂtnneqmﬂonhrmlineﬂwfhmlldhﬂngiwnlinl
and that contains the given point. Part 4 Answers
Wy=3x-4;(27) ly==-4x +1 lfy=gx—3
Y y=—3x+5:(4-5) 12 y=-3x—-1 10 y=3x+1
C 4x +y=-9;(-2,9) quy=-x+2 Mqy=-4x-7
R —5x + 3y = 6 (-3, -8) 8y=-3x-3 2 y=-x-4
Px+y=7:(-40) Ty=3x-2 4 y= x -8
Part 5. themqwﬁnnhrlhnﬁneﬂutilpupcnﬂmhrhihoghm
line and that contains the given point. Part 5 Answers
| : SO ¢ -2
ﬂy——§x+4,(2,5) I4y-—§x+? 3y—§x+4
Tyr—‘%x~3;(2.—3) 20 y=-4x -5 25 y=3x-5
R =0
Py=%+15:(-37) Qy=-zx+5 Ry=-5x+2
M 3x + 2y = -10; (-9, -2) 19 y=-4x -3 7 y=38x-1
N 5x — y =16:(0,0) ' Z.Zy=—~}§x 5y=%x+6
C z[3[4[5]6|7|g|a|wl]n|z[8[4]E]6]7|E :qzolz:zzzs'zuszblzD
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